
FORMATIVE ASSESSMENT - II - 2022 - 23
ENVIRONMENTAL STUDIES

(English Medium)

Class : III ] (Max. Marks : 20) [ Time : 60 Mnts.

Name of the Student : ........................................................... Roll No. : .............

A) Categorize the animals according to their dwelling places 6 x 1 = 6M

[Cow,  fish,  monkey,  frog,  octopus,  tortoise]

 Terrestrial Aquatic Amphibians

B) Match the sounds with the animals. 4 x 1 = 4M

1) dog a) coos. (   )

2) cricket b) brays (   )

3) donkey  c) chirps (   )

4) cuckoo                        d ) barks (     )

C) Answer the following questions. 2 x 3 = 6M

1) How do animals move from one place to another ?

A.

2) Write 3 preventive measures to be taken to keep mosquitoes away ?
A.

D) Draw the picture of a fish and colour it 4M
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A ))))) øÏ+~ Ç∫Ãq »+‘·Te⁄\qT yê{Ï ìyêdüdüú˝≤\ Ä<Ûës¡+>±øÏ+~ Ç∫Ãq »+‘·Te⁄\qT yê{Ï ìyêdüdüú˝≤\ Ä<Ûës¡+>±øÏ+~ Ç∫Ãq »+‘·Te⁄\qT yê{Ï ìyêdüdüú˝≤\ Ä<Ûës¡+>±øÏ+~ Ç∫Ãq »+‘·Te⁄\qT yê{Ï ìyêdüdüú˝≤\ Ä<Ûës¡+>±øÏ+~ Ç∫Ãq »+‘·Te⁄\qT yê{Ï ìyêdüdüú˝≤\ Ä<Ûës¡+>±
eØZø£]+#·+&ç.eØZø£]+#·+&ç.eØZø£]+#·+&ç.eØZø£]+#·+&ç.eØZø£]+#·+&ç. 6 x 1 = 6

 ( Äe⁄,  #̊|ü,  ø√‹,  ø£|üŒ,  Äø√º|üdt,  ‘êuÒ\T )
 uÛÑ÷#·s¡ Je⁄\T uÛÑ÷#·s¡ Je⁄\T uÛÑ÷#·s¡ Je⁄\T uÛÑ÷#·s¡ Je⁄\T uÛÑ÷#·s¡ Je⁄\T »\#·s¡ Je⁄\T»\#·s¡ Je⁄\T»\#·s¡ Je⁄\T»\#·s¡ Je⁄\T»\#·s¡ Je⁄\T ñuÛÑj·T#·sê\TñuÛÑj·T#·sê\TñuÛÑj·T#·sê\TñuÛÑj·T#·sê\TñuÛÑj·T#·sê\T

B ))))) øÏ+~ Ç∫Ãq »+‘·Te⁄\T eT]j·TT yê{Ï <Ûä«qT\qTøÏ+~ Ç∫Ãq »+‘·Te⁄\T eT]j·TT yê{Ï <Ûä«qT\qTøÏ+~ Ç∫Ãq »+‘·Te⁄\T eT]j·TT yê{Ï <Ûä«qT\qTøÏ+~ Ç∫Ãq »+‘·Te⁄\T eT]j·TT yê{Ï <Ûä«qT\qTøÏ+~ Ç∫Ãq »+‘·Te⁄\T eT]j·TT yê{Ï <Ûä«qT\qT
»‘·|üs¡#·+&ç.»‘·|üs¡#·+&ç.»‘·|üs¡#·+&ç.»‘·|üs¡#·+&ç.»‘·|üs¡#·+&ç. 4 x 1 = 4

1) ≈£îø£ÿ a) ø°#·T <Ûä«ì
2) ÁøÏ¬ø{Ÿ b) düøÏ*+#·&É+
3) >±&ç<ä  c) ≈£L.....}
4) ø√sTT\                d) yÓTTs¡>∑&É+

C ))))) øÏ+~ Á|üX¯ï\≈£î düe÷<ÛëHê\T sêj·T+&ç.øÏ+~ Á|üX¯ï\≈£î düe÷<ÛëHê\T sêj·T+&ç.øÏ+~ Á|üX¯ï\≈£î düe÷<ÛëHê\T sêj·T+&ç.øÏ+~ Á|üX¯ï\≈£î düe÷<ÛëHê\T sêj·T+&ç.øÏ+~ Á|üX¯ï\≈£î düe÷<ÛëHê\T sêj·T+&ç. 2 x 3 = 6

1) »+‘·Te⁄\T ˇø£ Á|ü<̊X̄+ qT+&ç eTs=ø£ Á|ü<̊XÊìøÏ m˝≤ ø£<äT\T‘êsTT ?

2) <√eT\ ìyês¡D≈£î rdüTø√e\dæq @ẙì eT÷&ÉT ìyês¡D≤ #·s¡́ \qT
sêj·T+&ç ?

D ))))) #̊|ü u§eTà ^j·T+&ç eT]j·TT <ëìøÏ s¡+>∑T\T ẙj·T+&ç. 1 x 4 = 4
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